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Please note that this key is within the purview of
Oxford Advanced Learner’s Dictionary, published in 2014.

KEY FOR CLASS :  5

Explanations and answers to select questions

03 Option (B) is the correct answer. The correct spelling is ‘Bachelor’.

11 Option (D) is the correct answer. Its homophone is ‘Waive’.

15 Option (C) is the correct answer. Article ‘a’ before ‘screeching’ compels the use of a
countable noun ‘sound’.

22 Option (A) is the correct answer. Article ‘the’ because ‘light’ is a particular one the speaker
is referring to for the action of turning on, and for book ‘a’, because it is not referred to.

31 Option ‘B’ : ‘PQRS’ is the correct answer. The corrections are shown in brackets and by
striking out : People is (are) awaiting for the arrival to (of) the cheap (chief) guest.

41 Option (A) is the correct answer. Because they can’t breath under water, though they can
hold breath under water, for a long time. So they live only on land. A whale too can’t breath
underwater as it has no gills, but it can’t live on land and so is an aquatic.
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